% @Kn?ﬁz ;k%

Sl

BT X E =T HEE SR

H K Sf34E3H12H (&)
FH 300 045~
2 ¥ BAWHEIIATE 20 18%=

1 B =
2 HWNE-o

3 # =

(1) WkF 15
ER T SO S SR AT B I C B 1T 2 Bfn 2 2 (1~12 A) E7RIFHR%EIC
*TLHERIZONT

(2 Z=ofh

4 O

(1) FR2HEESD S &UUIRBILSE~DFHHRILIZ OV T

(2)  AF0 2 B A S EAR B B S 26 O R BLUT SN T

(3) B =m0 A L R EGE o S R AE R RS 22 AT E T EIC DN T

5 M =

[FRiTEAE R
S22 (1~12 H) O/ FEiES

((RINE=2ED)

EE1 A2 (1~12 A) E%EE%E LB - EE]

EE2 A 2FEEANTS D S & SUBIRBLIL G~ D ZFHHR LIz DV T
EEF3 AR 2 A [ T S EIR B B B ORI DN T

R4 B o T A L R SEYE kG 5 AR RS A AT 2RI oW T
&1 AlmseeEiitEEgs B4

&2 AiUeEiifEERRs SRR



